LC-B Z5UBk%H3S
LC-BS #5ll

@ EENIE
3Edeh
0&5&# =W E
BREES
'mfﬁi}# R AsEX

FEHLEIN - m] 20~800

JEFLIE in T35 El[mm] ¢ 7~60

ERAEE[° C] -30~+120

R =

. > [mm] 0.02~0.9

BRER wRC ] 1 ()
EhE AR [mm] +0.6~+3.6

SR
® LC-BS-S#E! ® LC-BS-W=!

RARETERE: 129 REREER
REE: REHFERE HhEEM R : S45C
REAE: REPFELE

BEF: ¥ SUS304
H#t: S45C

BEF: R SUS304
h#t: S45C

EZEMR: S45C

REE: REHFHE EZEMT: S45C

REAE: REBHFLE

NEERIERHR: 12.0 AEREER NATRIERMR: 12.9 REREER
RELE: REHFLE REAE: REHGLE




LC-BS-S
@ ik
BABRE _ "
ne s o BEE *ﬂfgg e
. . s
[N - m] e R mm]  [min] N - m/rad]
LC-BS-05S 20 1 +0.6 25000 16000
LC-BS-06S 40 1 +0.8 20000 29000
LC-BS-08S 80 1 +1.0 17000 83000
LC-BS-09S 180 1 +1.2 15000 170000
LC-BS-10S 250 1 +1.4 13000 250000
LC-BS-12S 450 1 +1.6 11000 430000
LC-BS-14S 800 1 +1.8 9500 780000
® R~
L F
s LF
e -6
I —t -4
[ |
ozl =81 B
23 T E B s
[ J
GERliN
KHFLIEERM
d1-d2
iR D N L LF
B BN BX
LC-BS-05S 7 8 20 56 32 45 20
LC-BS-06S 7 8 25 68 40 56 25
LC-BS-08S 10 11 85 82 54 66 30
LC-BS-09S 10 11 38 94 58 68 30
LC-BS-10S 15 16 42 104 68 80 35
LC-BS-12S 18 19 50 126 78 91 40
LC-BS-14S 20 22 60 144 88 102 45

AR E A EKREIHEHEER A

® BSiA:

LC- BS -{10]S -[25/B -[30]B

R
ESTP

S:EER

Tj’—_’_

LC-B Z7IBkHHzR

2 3 14
B
[N/mm]

43
45
60
122
160
197
313

EiRE
kg - m?

0.11x10°®
0.30x1072
0.87x102
1.60x1073
2.60x10°®
6.50x107°
9.90x1072

Lz

di1-d2

11
10
11
21
16
23
31

24
30
38
42
48
54
61

RE
(k]

0.30
0.50
1.00
1.40
2.10
3.40
4.90

B {7 [mm]

4-M5x22
4-M6x25
4-M6x29
4-M8x36
4-M8x36
4-M10x45
4-M12x54



LC-B ZRFIBXH=S

BS

LC-BS-05W
LC-BS-06W
LC-BS-08W
LC-BS-09W
LC-BS-10W
LC-BS-12W
LC-BS-14W

® R~

BS

LC-BS-05W
LC-BS-06W
LC-BS-08W
LC-BS-09W
LC-BS-10W
LC-BS-12W
LC-BS-14W

HEHE
[N - m]

20

40

80
180
250
450
800

RABIFIRE
R [mm] {fﬁ}
0.2 1(BM)
0.3 1(Ea )
0.3 1 (E )
0.5 1 (EA )
0.5 1(E2 )
0.6 1(Ea )
0.7 1(Ea )

a7

[mm]
+1.2
+1.6
+2.0
+2.4
+2.8
+3.2
+3.6

X o F iR
[min~"]
10000

8000
6800
6000
5200
4400
3800

¢ D

IRFL

7

7

10
10
15
18
20

RERERRITHEEET R

® FSiiAA:

di-d2

=2\

&N
$di
-

BA
20
25
35
38
42
50
60

56
68
82
94
104
126
144

32
40
54
58
68
78
88

B HIFLIZERRM
L LF
58 20
74 25
84 30
98 30
110 35
127 40
144 45

ik gl
B
[N - m/rad]
8000
14000
41000
85000
125000
215000
390000

LP S
8 5
12 6
12 6
22 8
20 10
25 11
30 12

LC- BS-[10/W —[25|B -[30|B

R

Tj‘—_’_

%5,

W& F

fLE: d1-d2

S
B
[N/mm]
21
22
30
61
80
98
156

12

10
15

LC-BS-W
BHRE BRE
[kg - m?] [kl
0.14x10°® 0.40
0.41x1072 0.70
1.10x1073 1.30
2.20x107° 2.10
3.60x107° 2.80
9.20x1072 4.90
15.00x1072 7.10
A7 [mm]
d3 K M
20 24 8-M5x15
24 30 8-M6x18
28 38 8-M6x20
32 42 8-M8x27
34 48 8-M8x27
40 54 8-M10x32
46 61 8-M12x38



